SUMPOBRIESNILTOIS s

SE“ME;’D SuMPO EPD R EE A AT S IR
.. AAAAA H4TF L (EPD) T RERAHET-14-8
VERIFIED KANDA SQUARE GATE

BHRES ¢ JR-AI-25441E

https://ecoleaf-label.jp

bethef TS5 —T %% 2% / BROTHER INDUSTRIES, LTD.
A0 yNMESH

at yourside

Inkjet All-in—One Printer

M FC_\J 6560DW for North America

BEEM
Hm1adbiy

BE N RELRE
W& ES mESS)
R ERE, SLE. Ul R S, R

REDEX, TELHK-#ET
AU, : MFC-J6560DW
oy WOPE:Y)
‘AREE  18.6kg. BEAM © 4.5kg
BAAEYIR A3

TV N/IE-/AFv Y /FAX/ BB R EENR/
ADF(RTE B BIFtIAH)

B R/ AR LAN

KA R FIKMERIT T,

FEWEhE%E
IIY-T#EMkA S

inml-ecoleaf-jimukyoku(at)brother.co.jp

ERES JR-AI-25441E
EAPCRES  PA-590000-Al-08
PCR% E1f5 A 1 #EER [558hik])
yNE]=! 202653 A 13H

RALEEHE  2026F2814H
RAEA VATLREEA R
RIEES JV-AI-25441E
IRIEEEAR 2031428138
PCRLE1-DETE

FERZE 2023 98 1H

ZER Ml Ex
(—MAEE AT AT T IR EHEEERE)

E=EIRAE
NEPIREEE B8RRI

ISO14025(CfE2T=ARE E RV T DI LRI

ORER WAL ER
YT hRAE B BEERORIOE AL, VAT LRI4{TEEE
D& BRI

https://global.brother/ja
E#RES © JR-AlI-25441E



SuMPO SuMPO EPD SUMPORRIEIANIN OIS A

E D - —RRAE R AT AT IR EHE S
-. .0 S4TNRIBEEE (EPD) BT AERAME-14-8
VERIFIEE KANDA SQUARE GATE
EHES JR-AI-25441E https://ecoleaf-label jp
17917 VRS SR
RREEGR | meeE | Esm E?;Bifﬁ e
SURZE - &5 kg-CO-eq 1.03E+02 1.31E+01 2.03E+01 9.00E+00 3.95E+01
[irge 2|4 kg-SO.eq 4.36E-01 9.52E-02 3.51E-02 3.33E-02 2.68E-02
EEYME RS - i1 kg-Sbeq 3.39E-02 1.34E-05 9.68E-06 1.80E-04 5.26E-06
F1I517)1 IRV M) S iR BEEIESR
—REROFERCET351Z
FREEEN | WESE | B ﬁ?n'ﬁ*:ﬁ BEBE
"X
HERAE—RER - IRILF- (RPRY) M) 3.48E+02 1.06E+02 2.22E+01 4.52E+01 1.16E+01
BEAE—REE - IRLE-2HHE (RPRy) M) 2.10E+01 3.20E-02 5.13E-04 2.43E+00 2.23E-03
FBETE—REE - TRILE— (NRPRp) M) 1.94E+03 1.74E+02 2.84E+02 2.41E+02 6.23E+01
SEEE AR —REE - TRVE-2BHE (NRPR,) Y] 6.44E+02 4.41E-01 2.82E-02 2.27E+01 3.87E-02
HERRICAT2EMIER
FEREROEERZE (YU
A (VA (BEFERERM  3E, £EMNRIKE : 7,2004%
ERIAREIBEEFCEERN, BRLEIRINF-AF-TO0J3 L4 : Ver3.0, AE G EALKLmIT

ZOft DRI E IR

AEFZOEIIEEE EERRAOM VI RUAYFELEISO14001BEEFTIHICTITHhNTVES,

ERALE=RT-IDEXH

7El-49E (ERES) Bifif IDEA v3AZfER LT,

Limim 3.7E+00 kg
IS 6.1E-02 kg
PIVIZUA 1.2E-02 kg
zZotEE 5.7E-02 kg
myA 6.7E-02 kg -
A2 1.2E+00 kg
K 4.3E+00 kg
SE LR E| BREAR 8.4E-01 kg
Z0ft 1.2E+00 kg

OT-HEEDHEE PCRELUEE - EERBESRBLTUEI,
OLLEIIDVTUS, BE - EERBICRESNEERBFEBLLLSEICLIRHSNEEA,
(BHRFURL : https://ecoleaf-label jp/regulation/)



